=2 10°
O
=
£ 10°
)
©
S
S 10
o
—
1
1071
1072
1073
2

Ratio to CMS
[N

0.5

7QOO Gevl Pp_

Jet Mass (anti-kT(o.7), 220<pT<300, ly|<2.5)

[ IIIIII{_

o-""','fﬁ"""""'if..tf!r\
m
TR

~
~
~

N
N

-
."' ’
*u
o /
. V2

-
~
S <

N ’
.
2
-

-
-
-,
-

m CMS
--3-- Herwig 7.2.0 default
----- ¢ Sherpa 1.2.3 default

,
)
)
.
)
)
i |

W+Jet

[ | IIIIII1_

mcplots.cern.ch [arXiv:1306.3436]

Rivet 3.1.0, = 4M events

E T T T T [ T T T T [ T T T - E

— g--- 4 =2

| m \ E

- g “ -
:_\_Er,—"’—l\ \ _1
: L S !

I ¢ ’ 3 —

: Y QRPN Q‘“. ) ¢ - \ :

& Q * )

L —0.5

| 1 1 1 1 " | 1 1 1 1 " | " 1 1 |“ " |

0 50 100 150



	Contents
	Page 1


